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(a) Overlap is estimated to be around 95% of the groundwater flow as only a very small part of the groundwater escapes from rivers and flows out into the sea.
(b) (TCD:)On Logone [border- CMR/TCD]: The Logone originates in Cameroon, runs through Chad, and returns to border Cameroon again. This segnment refers to the border flow
from Chad
(b) FROM: Chad: +(17-4.7)/2 (Logone [border- CMR/TCD])+4 (Benoue)
(c) (TCD:)On Logone: The Logone originates in Cameroon, runs through Chad, and returns to border Cameroon again. This segnment refers to the entering flow
(c) TO: Nigeria: 29 (Benue and tributaries); Congo: 6.3 (Dja/Ngoko/Sangha); Chad: 4.7 (Logone)
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Computation of long-term annual renewable water resources (RWR) by country (in km³/year, average)
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